
Answer on Question #69944 – Physics – Mechanics | Relativity 

A stone of mass 0.3 kg tied to one end of a string 0.8m a long and rotated in a vertical circle. At 
what speed of the ball will the tension in the string be zero at the highest point of the circle? 
What would be the tension at the lowest point in this case?  

Solution. At the highest point of the circle we have: 

𝑚𝑚𝑚𝑚 = 𝑚𝑚𝑚𝑚, 

or  

𝑚𝑚𝑣𝑣2

𝑙𝑙
= 𝑚𝑚𝑚𝑚 → 𝑣𝑣 = �𝑔𝑔𝑔𝑔 ≈ 2.8 

𝑚𝑚
𝑠𝑠

. 

At the lowest point we have 

𝑚𝑚𝑚𝑚 = 𝑇𝑇 − 𝑔𝑔𝑔𝑔 → 𝑇𝑇 = 𝑚𝑚�
𝑣𝑣2

𝑙𝑙
+ 𝑔𝑔� ≈ 5.9 𝑁𝑁 

Answer. 𝑣𝑣 = 2.8𝑚𝑚
𝑠𝑠

,𝑇𝑇 = 5.9 𝑁𝑁. 

Answer provided by https://www.AssignmentExpert.com 

https://www.assignmentexpert.com/

